Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages

= 50, will be treated as malpractic

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

=

@

o e

Note: 1. Answer any FOURﬁgH questzonsfrom QNo I ta QNo 7.
2. Question No. 8 is compulsory ;
3. Use of P.V. tables_%prrmztted

List the features of a Good Investment (03 Marks)
Explain the different moné"*’? market instruments axa"%*f”ble in India. (07 Marks)
Explain the methods @f ﬂoatmg securities in Primary market. (10 Marks)
Explain S & PBSE%SENSEX - (03 Marks)

Discuss the types of Risk. A4 (07 Marks)
A portfolie ‘consists of three securities X Y and Z. These securities have the following risk ,

return and | correlation coefficients.

Security | Expected Return (%} _Standard Deviation-| Correlation Coefficients
=X 31 £ % 31 = | XZ :-0.60
¥ 17 22 YZ:0.60
Z 18 24 737 XZ%0.30
Determine the risk and return of the portfoho @onsmtmg of 40%.of X, 35% of Y and
25% ofZ. =5 5~ & (10 Marks)
If a preferred smc:k s annual d1v1dend as s 4 and the raquu"é"d return is 10%, what is the

worth of the g;efefred stock today? ~ - - (03 Marks)

Two bonds A and B have a par value of Rs 10,000 and YTM of 9%. Both mature after
4 years._A pays annual coupen of 10% and B pﬁ&gs 7.5% annual coupon. Calculate the

duratzonmd volatlhty of bongis A&B. 9 (07 Marks)

?5

List the basic ten“é%glof Dow Theq;ym (03 Marks)
Discuss the forms of efficient market hypothesis and the different tests of market efficiency.
:‘m 'Z: ..... (07 Marks)

The followmg three portfo hos“‘prowde the particulars given below :

Portfolio | Average Annual return (%) | Standard deviation | Correlation coefficient
A I8 27 0.8
B 14 18 0.6
= . 15 8 0.9
Market PEa- W 13 12 -
Risk free rate@f interest is 9%.
Rank these portfolio using Sharpe and Treynor measures and compare them. (10 Marks)
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a. Explain Markowitz Efficient Frontier. (03 Marks)

b. Determine 9 day Relative Strength Index (RST) for the fé’%lowmg data :
Date Feb4 | 6 7 g |11 713 |14 |18 | 19

Price (Rs) | 300 | 304 | 319|317 | 319 333 | 331 | 332 | 348 | 346
s (07 Marks)

¢. An investor owns a portfolio composed of ﬁve securities with the following characteristics :

Security | Beta Standard deviation of random Proporticm
1 1.35 _ O.IO
2 1.05 & 0.20
3 0.80 ~ 3 0.15
4 1.50. 0.30
ENAE 0.25

If the standard dev1at1fmmof the market index IS 2@% determine the total risk of the

portfolio. : gwﬁ% (10 Marks)
a. List the assumptions ¢ “of Markowitz Model. (03 Marks)
b. Explain the utility of economic analyss a:nd state the economic factors considered for this
analysis. . .- - { (07 Marks)
¢ B ollowmg mfermanon is available in respect of market :
Security mExpected Return (%)
A T
_Ce
e ; T LmRAR‘;’
T Bill BANGALDRE 560 03
“ | SENSEX
Which of the ws:.eell,u'ltles are underpmced or overpnced in terms of Security Market Line
(SML)? "% A O i 2 (16 Marks)
a. Explalnkmoﬁmg Settlement. - S (03 Marks)
b. Discuss the different types of charts used in Techmcal Analysis. (07 Marks)

c. Z Company stock is currently selling at Rs 25 per share. The stock is expected to pay Re. 1
as dlvzdend per share ﬁt%tﬁ&end of the nexﬁ;zgar It is reliably estimated that the stock will

If the forecas‘e%out the dividend and prlce are accurate , is it advisable to buy at the

present prleg“?“ill" he required rate of return is 20%.
ii) If the investor required 15% return when the dividend remains constant what should be

the prlce atthe end of the first year? (10 Marks)

CASE STUDY (Compulsorg

Sigma Steel (SS) and, Cfn Cements (CC) are listed on the stock exchange for the last
several years. The stocks behave in tandem depending upon the state of economy but to
verifying degrees. An. analyst has conducted a study to find out how the interrelationship of the
returns of the two stocks is. He segregated different economic conditions as — Excellent , Good ,
Normal and Poor and calculated the returns offered by each firm during such periods. He
further estimated that the likelihood of state of the economy for the next 10 years. Summary of

his findings is as follows :
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Situation | Probability | Returns (%)
S84 CC
Excellent 015 = 20 | 15
Good 0.15#_[ 715 12
Normal 0.50 12
Poor 0.20_ -3
Determine the following : A
a. The expected return of each stoek A (05 Marks)
b. Standard deviation of each s@%“ (05 Marks)
%

Covariance and coefficient _gf correlation between Eeturns of Sigma Steel (SS) and

Chi Cements (CC). ;—"”“%-«zmﬁ

(05 Marks)

Expected return and rlsig of the portfolio con51st1ng 0?40% of Sigma Steel (SS) and 60% of

Chi Cements (CC)
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(05 Marks)



